
     474 HW 08 problems (highlighted problems are the ones to turn in) 

 

     

 

 

                                 

 

                                   

                                        

 

8.1acegklptuz 

(#1) 

 

8.1 b 

8.1d 

8.1h 

8.1i 

8.1j 

8.1n 

 

(#2 - #7) 

3 pts. each 

 

 

 

 

 

 

 

 

 

8.7a 

(#8) 9 

 
8.7a Do this  by construction, i.e., produce an algorithm that takes as input a DFSM  

M = (K, , , s, A) that accepts L, and produces a DFSM M′ = (K,  , , s, A) that accepts 

pref(L).  Describe how to get from M to M' 

Hint: M’ will have a lot of its elements in common with M, but it takes a somewhat 

complex calculation (based on M) to determine exactly what has to be changed. 

On the main HW8 assignment document, I posted the author’s solutions to the other 

three parts of problem 8.7, so that you will have more examples. 

 

 



  

  

            

          

              

           

           

 

 

 

 

 

 

 

 

8.2ac 

(#9) 

 

8.3 

(#10) 

 

 

8.4a  

(#11)  6   

8.4b 

(#12)  

8.7 

(#13) 

 

 

 


